



Nombre: _____

Fecha: _____ Puntuación: _____

$$\frac{2}{3} + \frac{1}{2} \left(\frac{1}{5} + \frac{1}{2} \right) =$$

$$\frac{3}{4} + \frac{1}{6} \left(\frac{1}{6} - \frac{1}{3} \right) =$$

$$\left(\frac{3}{4} + \frac{3}{2} \right) \times \frac{1}{3} + \frac{1}{2} =$$

$$\left(24 \div 3 + \frac{1}{2} \right) \times \frac{3}{4} =$$

$$\left(88 \div 8 - \frac{1}{3} \right) \times \frac{3}{4} =$$

$$\left(\frac{1}{6} - \frac{3}{4} \right) \times \frac{3}{4} + \frac{3}{2} =$$

$$\left(\frac{2}{3} + \frac{1}{5} \right) \times \frac{1}{2} + \frac{3}{2} =$$

$$\left(\frac{1}{2} + \frac{3}{4} \right) \times \frac{1}{4} + \frac{1}{3} =$$

$$42 \left(\frac{1}{2} + \frac{1}{4} \right) \div 7 =$$

$$\left(110 \div 11 - \frac{2}{3} \right) \times \frac{2}{5} =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\frac{2}{3} + \frac{1}{2} \left(\frac{1}{5} + \frac{1}{2} \right) = \frac{61}{60} = 1 \frac{1}{60}$$

$$\frac{3}{4} + \frac{1}{6} \left(\frac{1}{6} - \frac{1}{3} \right) = \frac{13}{18}$$

$$\left(\frac{3}{4} + \frac{3}{2} \right) \times \frac{1}{3} + \frac{1}{2} = \frac{5}{4} = 1 \frac{1}{4}$$

$$(24 \div 3 + \frac{1}{2}) \times \frac{3}{4} = \frac{51}{8} = 6 \frac{3}{8}$$

$$(88 \div 8 - \frac{1}{3}) \times \frac{3}{4} = 8$$

$$\left(\frac{1}{6} - \frac{3}{4} \right) \times \frac{3}{4} + \frac{3}{2} = \frac{17}{16} = 1 \frac{1}{16}$$

$$\left(\frac{2}{3} + \frac{1}{5} \right) \times \frac{1}{2} + \frac{3}{2} = \frac{29}{15} = 1 \frac{14}{15}$$

$$\left(\frac{1}{2} + \frac{3}{4} \right) \times \frac{1}{4} + \frac{1}{3} = \frac{31}{48}$$

$$42 \left(\frac{1}{2} + \frac{1}{4} \right) \div 7 = \frac{9}{2} = 4 \frac{1}{2}$$

$$(110 \div 11 - \frac{2}{3}) \times \frac{2}{5} = \frac{56}{15} = 3 \frac{11}{15}$$